M
e
w5

T
et
&

OM 1__/|.A

oF 58
B x

mM o
i
No =
op 3y
T

@ B(1,2)

© A(-4,3)

@ D(-4,0)

® C(3,-1)

® E(-2,-2)






1
@ y:§X
® y=-2x
® y=28x

w429
1

@ y= —5)(

@ y=2x

yl

o
NG| P,

By



4., yExWMESILx=3Ld W, y=5g2 3} x=5< 0, y 9
&2 Fetola

@ 7 @ 10 A3 6 @ 3 3B 5



S F A1, 3AFRHS AR =

Y= A7

® y=-3x

@ y=
@ y=3x ®y=

X
2
X



6. X P(a b) 7ty = Sloll AL, y ZE7F12 A o a+ b 9 32?7

D 8 ® 10 3 12 @ 14 B 16



P(a, b) 7k Al 429 0] AL W, A Qab, a~b) 7k AA|5h= ARZH
29

.

@ A 1AREH @ A 2AHEH ® Al 3AREH

@ A 4AFEH ® A 5AFEH



Q(a.b) 7} x 3l okl A2 o

@ a=2b=-4
@ a=-2,b=-4



/

123456 x()




10. o5 H7] oA y7h xofl AulEste A 25 28 220

B7]

=71

@ 18] 10kcal 9] deFo] 2nd f x & FoF AnEE
HeF-2 ykeal o]t

O 1247l 5009 oh= 4™ 22472} 1709] 2009 sH=
27 xNE AL A ESloF S a2 y Holtt.

© Wol7t 7em? )1 A7+ o] WH 9] Aol7} xem Y
=°]&= yem |t}

@ TF WO do|7F xem ¢ A2 o] E#9] ol yem
ojt}.

@ FA7} 500gQ 1500 & xge B2 o, AA Q] FA=
ygoltt.

b}

ORON® ©® 0.0 ® 0,
@ ©O.© B ©. 0




11. o= ZA y 7k x o AulEE o, A + B 9] &

1

[\)

B

8

solat



12, yE=Exof AUEStE, x =1L o], y = 20|t} x=3< o, yo] S
Tstod gt

s
=¥



13.

gulel PA y = ax(a # 0) o 2o thet AT F A

A

rlo
fijo

o}
E-)

® a> 009 A 1 AR A 3ARAE 2}
@ a<00lW SEF o} 2 st Ao|tt,

® a9 Fro] 242 yZof 7Pk ATH



237 & 274y

a9

@ x o 10000

®

A7 xem 91 FSHA L] H1 y em?

5

o] =¢19] 4ol y cm

<!

@ #]&°] xem 9l



15. y= 994 IHE7L A (a, -3) 5 A W, A (-2a, )= A B AW
9o MR Fstoizt

YR
-



16. HmAW 910 Al A A,B,C 2| HEs} T3 2E v, AABCE] ¥
ol Fatm?

=
=

, 2), B(2, 4), C(0,-2)

@D 10 ® 12 ® 14 @ 16 ® 18



17. A P(a b) 7t A 4 ARE A AL W, F A (a2 b-a) £ A 2
AR Sle] 47H?

@© A1 AEH @ Al 2 A9 ® Al 3 AHEH

@ A 4 AFEH B x=9



18. m@ax@(gb)u;4wﬂ@Wﬂ%ﬂy=§xﬂzm£%ﬂ

a—
Ao, = o grey



19. A 4 ( -g) 9. 5) . (-3, -3) ol y = < ] 222 919 G o)

da + 3b + ¢ 9] 3& F5HH?

D 2 ® 4 ® 11 @ -4 ® -11



20. THS 1L y—ax}y= 394 Jefj ot} A p o] xZEI 4 T,

y=ax

O 12 @ 4 ® -4 @



